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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (@)  Write difference between population survey and sample survey.
(b) Calculate Bowley’s coefficient of skewness.

Marks 0-10 10-20 20-30 30-40 40-50
No.of 20 10 20 30 20
students
Q.2
(a) Calculate Karlpearson’s coefficient of skewness.
X 2 3 4 5 6 7 8
Y 3 5 8 10 6 4 4
(b) Calculate the coefficient of mean deviation.
Age 15-19 20-24 25-29 30-34 35-39
No.of 3 7 12 6 2
women
OR
(b)  Write merits and demerits of range and quartile deviation.
Q.3
(@) Find Karlpearson’s coefficient of correlation.
X 29 43 50 47 41
Y 45 51 56 43 55
(b)  From the following data find regression equation of x on y and
estimate X when y=40
X Y
Mean 15 25
Standard deviation 9 18
coefficient of correlation=0.9
OR
Q.3 (@) Explain spearman’s method of rank correlation with merits and
demerits.
(b)  Write difference between correlation and regression.
Q.4
(a) Obtain laspyre’s and paasche’s index number.
Commodity Base year Current year
Price Quantity Price Quantity
A 10 08 22 10
B 20 04 30 05
C 30 10 44 20
D 40 20 50 30
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Find coefficient of rank correlation from the following data.
X 22 27 28 15 32 14 07 09
Y 32 39 40 20 21 22 16 30
OR

State the advantages of cost of living index number and its

limitations.

Explain (1) Regression equation
(2) Merits of standard deviation

There are 5 red and three black balls in a box. Two balls are taken at

random from it. Find the probabilities that
(1) Both the balls are of same colour.
(2) Both are red.
(3) Both are of the same colour.

Explain (1) Types of skewness

(2) Size of sample

OR

Explain (1) Random experiment
(2) Sample space
(3) Mutually exclusive events

Obtain index number by family budget method
Commodity Quantity Prices
1995 1995 2005
A 20 08 10
B 08 16 24
C 06 15 20
D 05 06 12
E 04 30 36
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